INS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL					
Solution Chamber of Commerce		ate Number : LA-COO-42247-65c3de3ff3f08 Date : February 07, 2024				
Seller (Exporter) BRAZILLIAN PROFESSIONALS LLC 28001 Dorothy Drive	Transport Type Air		Port of Load LAX	Port of Loading LAX		
Agoura Hills California 91301 United States	Destination Country United Arab Emirates		Destination SHARJAH	Destination Port SHARJAH		
Consignee	Export Date 2024-02-02			Exporting Carrier ***********		
EJ STATION GENERAL TRADING FZC C/O ADIL RIAZ SAIF-ZONE ADDRESS:	Import Permi		Bill of Lading	Bill of Lading / AWB		
250 M2 WAREHOUSE A2-40, SHARJAH United Arab Emirates	Owner or Age			Forwarding Agent ********		
Buyer (Importer)	Remarks SO#2402778 Consignor reference: SO#2402778					
Description (May include notes on Quantity, Item Number, Marks and Numbers, H	Kind of Package	s.)	Weight	Country of Origin		
22P15 16oz Professional Ionic Cleanser			40 KG	United States		
H.S.Code: 3305.20.0000 Marks: 72 PCS		Net: 35 KG				
H.S.Code: 3305.20.0000 Marks: 72 PCS 22P06A 34oz Original BB Solution w/Pump		200 KG	United States			
H.S.Code: 3305.20.0000 Marks: 144 PCS		Net: 195 KG				
22R01C 12 oz Acai Anti-Frizz Color Shampoo H.S.Code: 3305.10.0000 Marks: 1200 PCS		577 KG Net: 572 KG	United States			
11R03 8 oz Acai Daily Smoothing Serum H.S.Code: 3305.20.0000 Marks: 192 PCS ATE OF O		70 KG Net: 65 KG	United States			
11R04 8 oz Acai Deep Conditioning Masque Chamber	24446888888	70 KG	United States			
H.S.Code: 3305.20.0000 Marks: 192 PCS			Net: 65 KG			
22R15 12oz BB Volume Shampoo		150 KG	United States			
H.S.Code: 3305.10.0000 Marks: 336 PCS	4		Net: 145 KG			
22R16 12oz BB Volume Conditioner	XXXXXXXX	150 KG	United States			
H.S.Code: 3305.20.0000 Marks: 336 PCS MBERS FEDER			Net: 145 KG			
Name of Authorized Trade Association	mber US2100201	 The above-mentioned goods origin origin applicable in the country(ies) The information in this certificate or Commerce ("LAACC") is accurate, the The Applicant undertakes to advising Certificate (or to whom the Certificate of any inaccuracy, omission or chainated The Applicant will maintain, and pri truth, accuracy and completeness of Inconsideration for the LAACC's is 	ate in the country(ies) spec to those goods. and in any documents provic ue and complete. e LAACC and any other pers ate is provided to with the kr ge in such information, or it esent upon request, such do f this certificate and accom suance of this Certificate, th ility in connection with the it or claims made against LAA	ocumentation as is necessary to verify the ppanying documents. ne Applicant agrees to release, discharge and ssuance of this certificate and to indemnify ACC in connection herewith.		

I OS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL				
LOS ANGELES AREA CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-42247-65c3de3ff3f08 VERIFY.FTGS.US Date : February 07, 2024				
Seller (Exporter) BRAZILLIAN PROFESSIONALS LLC 28001 Dorothy Drive	Transport Type Air	Port of Loadin LAX	Port of Loading LAX		
Agoura Hills California 91301 United States	Destination Country United Arab Emirates	Destination Po SHARJAH	Destination Port SHARJAH		
Consignee	Export Date 2024-02-02	Exporting Carr **********	Exporting Carrier ********		
EJ STATION GENERAL TRADING FZC C/O ADIL RIAZ SAIF-ZONE ADDRESS:	Import Permit Number *******	Bill of Lading /	Bill of Lading / AWB ********		
250 M2 WAREHOUSE A2-40, SHARJAH United Arab Emirates	Owner or Agent ********	Forwarding Ag	Forwarding Agent		
Buyer (Importer)	Remarks SO#2402778 Consignor reference: SO#2402778				
Description	(ind of Deckenser)	Weight	Country of Origin		
(May include notes on Quantity, Item Number, Marks and Numbers, H 22R10 3.3oz/100ml Acai Brazilian Dry Oil	Kind of Packages.)	10 KG	United States		
H.S.Code: 3305.20.0000 Marks: 60 PCS		Net: 5 KG			
22R14 3.4oz BB Ionic Bonding Spray		60 KG	United States		
H.S.Code: 3305.20.0000 Marks: 336 PCS	ON	Net: 55 KG	X A A A A A A A A A A A A A A A A A A A		
BB3200 B3 Braz Bond Builder 500ml H.S.Code: 3305.20.0000 Marks: 60 PCS	ARRCE	30 KG Net: 25 KG	United States		
BB3300 B3 Color Protect Reconst. Treatment H.S.Code: 3305.20.0000 Marks: 60 PCS CATE OF O	RIGIN	15 KG Net: 10 KG	United States		
11M29 Brazilian Blowout Retail Bags edited Chamber U H.S.Code: 4819.40.0000 Marks: 200 PCS		20 KG Net: 15 KG	China		
11M62 4Pk BB Hair Clips H.S.Code: 8306.30.0000 Marks: 100 PCS	*	3 KG Net: 3 KG	China		
11M64 BB Silicon Mat H.S.Code: 4016.99.0000 Marks: 100 PCS MBERS		10 KG Net: 10 KG	China		
Name of Authorized Trade Association	The above-mentioned goods ori origin applicable in the country(ie -The information in this certificat Commerce ("LAACC") is accurate -The Applicant undertakes to adv Certificate (or to whom the Certifi of any inaccuracy, omission or ch -The Applicant will maintain, and truth, accuracy and completeness -In consideration for the LAACC's -In consideration for the LAACC's	ginate in the country(ies) specific es) to those goods. e and in any documents provided , true and complete. ise LAACC and any other person (icate is provided to with the know lange in such information, or in th present upon request, such docu s of this certificate and accompa issuance of this Certificate, the ability in connection with the issu (/or claims made against LAACC	mentation as is necessary to verify the nying documents. Applicant agrees to release, discharge and Jance of this certificate and to indemnify C in connection herewith.		

LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL					
CHAMBER OF COMMERCE	COMMERCE TO VALIDATE, GO TO Certificate Number : LA-COO-42247-65c3de3ff VERIFY.FTGS.US Date : February 07, 2024					
Seller (Exporter) BRAZILLIAN PROFESSIONALS LLC 28001 Dorothy Drive	Transport Type Air Destination Country	Port of Loading LAX Destination Po				
Agoura Hills California 91301 United States	United Arab Emirates	SHARJAH				
Consignee EJ STATION GENERAL TRADING FZC	Export Date 2024-02-02	**********	*****			
C/O ADIL RIAZ SAIF-ZONE ADDRESS: 250 M2 WAREHOUSE A2-40, SHARJAH	Import Permit Number	Bill of Lading /	Bill of Lading / AWB *************			
United Arab Emirates	Owner or Agent *******	Forwarding Age	ent			
Buyer (Importer)	Remarks SO#2402778 Consignor reference: SO#2402778					
Description (May include notes on Quantity, Item Number, Marks and Numbers,	Kind of Packages.)	Weight	Country of Origin			
11M65 BB Solution Bowl H.S.Code: 4016.99.0000 Marks: 100 PCS		7 KG Net: 7 KG	China			
H.S.Code: 4016.99.0000 Marks: 100 PCS 11M71 BB Protective Eyeglasses	Co l	3 KG Net: 3 KG	China			
H.S.Code: 9004.90.0000 Marks: 100 PCS 11M47 2 3/8" Comb/Brush Applicator H.S.Code: 9603.29.0000 Marks: 200 PCS	MALERCE	5 KG Net: 5 KG	China			
end of products	RIGIN 152100201					
CERTIFICAT	C origin applicable in the country(ie - The information in this certificate Commerce ("LAACC") is accurate, - The Applicant undertakes to advi Certificate (or to whom the Certifi of any inaccuracy, omission or ch - The Applicant will maintain, and µ truth, accuracy and completeness - In consideration for the LAACC's	inate in the country(ies) specifies s) to those goods. and in any documents provided true and complete. se LAACC and any other person(s cate is provided to with the know ange in such information, or in th boresent upon request, such docur of this certificate and accompar issuance of this Certificate, the A ubility in connection with the issu J/or claims made against LAACC	d above and comply with the rules of to the Los Angeles Area Chamber of b) to whom the applicant provides this ledge of the Applicant) promptly in writing e origin of goods. nentation as is necessary to verify the ying documents. pplicant agrees to release, discharge and ance of this certificate and to indemnify in connection herewith.			

COMMERCIAL INVOICE BRAZILIAN PROFESSIONALS

DATE: 2/2/2024

SHIPPER INFORMATION:

BRAZILIAN PROFESSIONALS, LLC 28001 DOROTHY DRIVE 2nd FLOOR AGOURA HILLS, CA 91301 1-877-779-7706

FEDERAL TAX ID# : 32-0459179

COUNTRY OF ORIGIN: USA

SO# 2402778

BH4405565

CONSIGNEE INFORMATION:

EJ STATION GENERAL TRADING FZC C/O ADIL RIAZ SAIF - ZONE ADDRESS: 250 M2 WAREHOUSE A2-40 SHARJAH, UAE

TERMS OF CONSIGMNENT: FOB

COUNTRY OF DESTINATION: UAE

			COUNTRY	UNIT WGT					
ITEM #	ITEM DESCRIPTION	HS CODE	OF ORIGIN	IN KG	QTY	U	NIT VALUE	EXT	ENDED PRICE
22P15	16oz Professional Ionic Cleanser	3305.20.0000	USA	0.60	72	\$	10.00	\$	720.00
22P06A	34oz Original BB Solution w/Pump	3305.20.0000	USA	1.50	144	\$	70.00	\$	10,080.00
22R01C	12 oz Acai Anti-Frizz Color Shampoo	3305.10.0000	USA	0.50	1200	\$	3.00	\$	3,600.00
11R03	8 oz Acai Daily Smoothing Serum	3305.20.0000	USA	0.40	192	\$	3.00	\$	576.00
11R04	8 oz Acai Deep Conditioning Masque	3305.20.0000	USA	0.40	192	\$	3.00	\$	576.00
22R15	12oz BB Volume Shampoo	3305.10.0000	USA	0.50	336	\$	3.00	\$	1,008.00
22R16	12oz BB Volume Conditioner	3305.20.0000	USA	0.50	336	\$	3.00	\$	1,008.00
22R10	3.3oz Acai Brazilian Dry Oil	3305.20.0000	USA	0.10	60	\$	3.00	\$	180.00
22R14	3.4oz BB Ionic Bonding Spray	3305.20.0000	USA	0.10	336	\$	3.00	\$	1,008.00
BB3200	B3 Braz Bond Builder 500ml	3305.20.0000	USA	0.50	60	\$	40.00	\$	2,400.00
BB3300	B3 Color Protect Reconst. Treatment	3305.20.0000	USA	0.15	60	\$	3.00	\$	180.00
11M29	Brazilian Blowout Retail Bags	4819.40.0000	CHINA	0.15	200	\$	0.25	\$	50.00
11M62	4Pk BB Hair Clips	8306.30.0000	CHINA	0.01	100	\$	0.50	\$	50.00
11M64	BB Silicon Mat	4016.99.0000	CHINA	0.10	100	\$	0.50	\$	50.00
11M65	BB Solution Bowl	4016.99.0000	CHINA	0.10	100	\$	1.00	\$	100.00
11M71	BB Protective Eyeglasses	9004.90.0000	CHINA	0.01	100	\$	1.00	\$	100.00
11M47	2 3/8" Comb/Brush Applicator	9603.29.0000	CHINA	0.01	200	\$	1.00	\$	200.00
	2 PALLETS								
	267 CTNS								
	40"X48"X68"IN								
	40"x48'x69"IN								
	TOTAL WEIGHT 3,130 LBS (1,420 KG)								
						1			
	TOTAL				3,788			\$	21.886.00
		1		1	-,0	1			,

I certify under the penalties of perjury that the above items, quantities and prices are true and accurate to the best of my knowledge:

ANG<u>CL HERNAND</u>EZ Angel Hernandez

Brazilian Professionals, LLC

2/2/2024 Date

Signature & Title of Shipper Freight Coordinator

THESE COMMODITIES, TECHNOLOGY OR SOFTWARE WERE EXPORTED FROM THE UNITED STATES AND CHINA IN ACCORDANCE WITH THE EXPORT ADMINISTRATION REGULATIONS. DIVERSION CONTRARY TO U.S. PROHIBITED

1.877.779.7706 WWW.BRAZILIANBLOWOUT.COM



Brazilian Professionals, LLC 28001 Dorothy Drive 3rd Floor Agoura Hills CA 91301

Pack Slip: 395243	395243	Packing Slip	Page: 1 of 2
Ship To:	EJ station General Trading FZC c/o Adil Riaz SAIF - ZONE ADDRESS: 250 M2 Warehouse A2-40	Sold To:	Elie & Jean General Trading L.L.C Unit Nos. S-10, S-11, Jumairah Bay Tower Cluster X Jumeirah Lakes Towers PO BOX: 215820
Phone: Fax: Email:		Phone: Fax: Email:	+971 4 4470 290 +971 4 4470 291 Elieg@ejhair.com

Ship Date: 02/02/2024

F.O.B.: Origin

Ship Via: Warehouse Pickup

Line	Part Number/Description	Shipped Qty
Sa	les Order: 2402778 Your PO:	
1	22P15 / 16oz/475ml Prof. Ionic Cleanser	60.00 EA
2	22P06A / 34oz/1L Acai Original Solution w/ Pump, Dosage Cup, SDS	120.00 EA
3	22R01C / 12oz/350ml Acai Anti-Frizz Shampoo	900.00 EA
4	11R03 / 8oz/240ml Acai Smoothing Serum	144.00 EA
5	11R04 / 8oz/240ml Acai Deep Cond. Masque	144.00 EA
6	22R15 / 12oz/350ml Volume Shampoo	252.00 EA
7	22R16 / 12oz/350ml Volume Conditioner	252.00 EA
8	22R10 / 3.3oz/100ml Acai Brazilian Dry Oil	48.00 EA
9	22R14 / 3.4oz/100ml Ionic Bonding Spray	252.00 EA
10	BB3200 / b3 17oz/500ml Bond Builder	48.00 EA
11	BB3300 / b3 6oz/180ml Color Protect Reconstr. Treatment	48.00 EA
12	22P15 / 16oz/475ml Prof. Ionic Cleanser	12.00 EA
13	22P06A / 34oz/1L Acai Original Solution w/ Pump, Dosage Cup, SDS	24.00 EA
14	22R01C / 12oz/350ml Acai Anti-Frizz Shampoo	300.00 EA
15	11R03 / 8oz/240ml Acai Smoothing Serum	48.00 EA
16	11R04 / 8oz/240ml Acai Deep Cond. Masque	48.00 EA
17	22R15 / 12oz/350ml Volume Shampoo	84.00 EA
18	22R16 / 12oz/350ml Volume Conditioner	84.00 EA
19	22R10 / 3.3oz/100ml Acai Brazilian Dry Oil	12.00 EA



2 PALLETS 267 CTNS 40"X48"X68"IN 40"X48"X69"IN

TOTAL WEIGHT 3,130 LBS (1,420 KGS)

Packing Slip

395243

s	ales Order: 2402778 Your PO:		
20	22R14 / 3.4oz/100ml Ionic Bonding Spray	84.00 EA	
21	BB3200 / b3 17oz/500ml Bond Builder	12.00 EA	
22	BB3300 / b3 6oz/180ml Color Protect Reconstr. Treatment	12.00 EA	
23	11M29 / Brazilian Blowout Retail Bags	200.00 EA	
24	11M62 / BB 4 Pk Hair Clips	100.00 EA	
25	11M64 / BB Silicon Mat	100.00 EA	
26	11M65 / BB Solution Bowl	100.00 EA	
27	11M71 / BB Protective Eyeglasses	100.00 EA	
28	11M47 / 2 3/8" Comb/Brush Applicator	200.00 EA	

2 PALLETS 267 CTNS 40"X48"X68"IN 40"X48"X69"IN

TOTAL WEIGHT 3,130 LBS (1,420 KGS)



2 of 2